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suppose that X has a Weibull distribution with B = 0.2 and 8 = 50 hours. Determine the mean of
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thetic fiber used in manufacturing earpet hos tensile strength that is normally distributed wi
" l; J Nil

U and a standard deviation of 25. Find the procability that a random sample of n = 10 fiber sp
e dsample mean tensile strength that éxceeds 505 i

*| 0,026
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rhe sugar content of
the syrup in canned
peaches is normally
distributed. A random
sample of n =25 cans
vields a sample
standard deviation of
g =

23.04 milligrams?.
Calculate a 98% two-
sided confidence
interval for o?

O 'a. [12.87, 50.93]
O b. [12.14, 55.93]
O c.|14.05, 44.59]

O d. [4.8,12.73]



~nemical material is studied for impurities. Suppose that the nur

JEI O ImE

Kiogram of material is a Poisson random variable with a mean of 0.001

DATIC - I

cl) What is the expected number of kil : '
ograms of chemical m ‘ red to o
of contamination? - aterial TeqHIS .

b) H{hat IS the standard deviation of the kilograms of chemical materials require
particles of contamination? i

¢) What is the probability that the amount of the chemical material in kilograms (
contamination particle exceeds 3.000 kilograms?

& I A

a) 5000
b) 2236.068
|c) 0.647232




Question 2 suppose that X has a Welbull distribution with B = 0.5 and & = 50 hours.

Not yet .

Y u) Determine the mean of X,
answered
NMarked out of b) Determine the variance of X.
k9% ¢) Determine P(X>5000)
{" Flag
question

1 AY DB | I

1]

'I; E % I':-:.;-’ | :'. .I

a) 100
b) 50000

c) 4.54*10A-5

Type here to search
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Done Edit

. The volume of a juice filled into a can is uniformly d
What are the mean and standard adeviation of the

costs the producer $0.01. Any more juice in the can
producer. What is the mean extra cost?

Istributed between 243 and 250 milliliters. |
volume of juice? Every milliliter of the juice
than 244 milliliters is an extra cost to the

Select one:

More Add to story
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In the laboratory analysis of
samples from a chemical
process, nine samples from a
process are analyzed daily. In
addition a control sample is
analyzed twice each day to
check the calibration of the
laboratory instruments.

a)How many different
sequences of process and
control samples are possible
each day? assume that the
process samples are
considered identical and the
control samples are
considered identical .

b)How many different
sequences of process and
control samples are possible if
we consider the six process
samples to different and the
two control samples to be
identical







n |

ed

| out of

on

Nere to search

In the laboratory analysis of samples from a chemical process, eight s
are analyzed daily. In addition a control sample is analyzed twice eack
calibration of the laboratory instruments.

a)How many different sequences of process and control samples are g

assume that the process samples are considered identical and the co
considered identical .

b)How many different sequences of process and control samples are pe¢
the six process samples to different and the two control samples to be ic




R n account has
@ what are the mean ,_‘f:'”; dard
number of account errors each month

\ue of errors so that the probabill

b)Approximate ava
vceeds this value is 0.05

the number f errors e
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Marked out of 1.00

" Flag question

An electrical company has
around 300,000 account to be
served. All accounts are
metered and billed monthly.
The probability that an
account has an error in o
month is 0.001, and accounts
can be assumed
iIndependent.

a) what are the mean and the
standard deviation of the
number of account errors
each month

b)Approximate a value of
errors so that the probability
that the number f errors
exceeds this value is 0.05

1 A~ B 1
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z 8 Imsystem.ju.edujo/mod/quiz/attempt.php?attempt=2888448cmid=278457

Quiz na

Cuestion ]

The time between arrivals of aircraft at Agaba air port is exponential distributed with a mean
of half an hour.

Not yet

answerad

Marked aut of a) What is the probability that less than two aircraft arrived within an hour
1.0 |
MR D) determine the length of an interval of time (in hours) such that the probability of no arrivals
occur during the interval is 0.]
lime left (
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based on the history of data
collected, they can provide the
following probability
distribution for the number of
orders per week. It is known that the
profit is 10% of the order, What is the

mean profit per week for the
company?

Orders  Probability

100 0.1
140 015
150 0.2
170 0.25
¥ 200 0.25
1 210 015
QG 322
O b. 483
Wiie 16

O d. 18.5
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on | The number of cracks in a section of in mﬁr?m'cdmg way that are
tion with o mbunpt'imff- srack

assumed to follow a Fmssnn dlstrl perig
pred at most one crack requires rapt:lir in 3 kilnmetars of the t'ﬁghwu",'? (Answer toth

acd out of

19
tion

Answer. 0.014877



a) what is the probability mm |n strur
an 6 hours shift? ‘

b) what is the probability that at least thee fail
hour day
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A 1ane beverage machine is adjusted to release a certain amount of syrup into a chamber wharéii' é:"';:]q*rf&

a. [49.8, 50.2]

) b. [39.8, 40.2]

-----

O c.[298,302] . Gateae o 000

o= - . .

e m—— T TR R

- R ] 5
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until ull ten cﬂm puters fc:ul on the
same day?

Fimish
x attempt..

Answer: | Timeleft

0:25:26

Next page
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in cl prﬂcassmg plc:lnt 25 tanks are used ﬁ:ar mmtermls stc:rr:]ge Four tanks are selectsci at B

| _random and without replacement. Suppose that seven of the tanks contain material in which
the VISG{}Sity exceeds the customer requirements. [n addition to the seven tanks with high
_ viscosity levels, three different tanks contain material with high impurities. How many possible

- samples such that exactly one tank in the sample contains high-viscosity material and
~_exactly one tank in the sample contains material with high impurities?

[

: ﬁ‘n SWET.
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Tha diameter of the dot produced Dy a printer is normally distributed with a mean diumet'er'i:f;__i—'f
D.FJOB c¢m. What standard deviation of diameters is needed so that the probability that the = —
diameter is between 0.003 and 0.009 cm is 0.99? (Answer to the nearest six decimals).

Answer:

s =

Next page = —:_-:.q










The diometer of the dot produced by a printer is normal ly distributed with @ mean diar
0.004 cm and a standar

Qara deviation of 0.002 cm, What is the probability that the dicmeter is

FaTals

= |'""- F - - 3 A alal e o - §
between 0.003 and 0.006 cm?

L answer to iI:'-», neoarest BAVO lecil -‘k;f::llll
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A multiple-choice test contains 20 questions, each with three answers. Assume a student just
guesses on each question. (Hint: use two decimals for the probability)

what is the probability the student answers less than seven questions correctly? (Answer to
the nearest two decimals).

Fi

T
Answer
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